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INSTRUCTION : ANSWER ALL QUESTIONS.    

         

 

1. Given that matrix 𝐴 = [
4 2 𝑎 + 𝑏
1 𝑎 + 𝑐 0

]  and  𝐵 = [
𝑎 + 2 2 9

1 𝑏 + 1 0
].  If 𝐴 = 𝐵 , 

find the value of a, b and c.          

(CLO2, C2) 

(3 marks) 

 

2. If 𝐴 = [
6 0   4
1 5 −3

] ,  𝐵 = [
   2 9
  8 0
−4 7

 ] ,  𝐶 = [
7 2
3 1

]  and  𝐷 = [
4 6
5 8

] , Determine ; 

 

 

a) 4.A b) A.B        c) B.A d) C + D          e) D - C 

                          (CLO2, C2) 

(5 marks)   

 

3. The determinant of matrix 𝐴 = [
2  1  1
1 −1 −1
1  𝑠  1

]  is 3.   

a) Calculate the value of 𝑠 

b) If 𝐴. 𝐵 = 𝐼 ,  where 𝐼 is a unit matrix. Find the matrix of 𝐵. 

c) Given that 𝐴. [
 𝑝
𝑞
𝑟

] = [
 3
0
0

] , calculate the value of 𝑝, 𝑞 and 𝑟. 

                          (CLO2, C3) 

(12 marks) 

 

 

 

 

 

 

 

 



 
 

 

4. Solve the following equations by using Cramer’s Rule. 

 

 

 

 

(CLO2, C3) 

(10 marks) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

𝑥 + 3𝑦 + 2𝑧 = 3 

  2𝑥 − 𝑦 − 3𝑧 = −8 

5𝑥 + 2𝑦 + 𝑧 = 9 

 


